Mf, //a,nse/)

§ /-5 #8 Solution
12/7/2008

(2 { . A 8
/ F°p) "y ’ 10-4

Mutt. f’/\rﬁujh éj y,(/a—;) ) je.é
/= Afo-y) + By
IFf this is #fo be an /'a'en#/é{a For / ) the eZua,h'oh

chould hold even when ;:o or =)0, ZIgnore,

for now, the fact that Ceitpher valie s escluded
by the or/'j)'na,/ froctional eguation,

¥ =0 !
/
j= Afo—0)+8(%
/=  JOA

If ;=/D‘

] = A(O)_fg(/o)
/= /0B

Jest owur solution:

/ L L
— F L4
#(’/" H Ty T ey
—t— L[ L L
oy T (g T3

- L (__2:_._. L & )

o \ypo-yg) " y(P ¢
= L/ ¢t°F

_l,( 10
e (}C/"’#))
/
[The Solution works) dejf/“te the im‘bile noted a.,éove.J

—



(¢ j;"f@)“‘f = 3(u P

J(? * ;zf;,,)‘% = 3x+C
'75 (J;dy +f/o,~:;¢ d’;'):B)HC
B(%ly}“,&blw—»z}): 3x + C

byl = Lo lo=g) = 30% + €, where (10

[Sice both p and 10 are wsuaty positive(sy anatogy
with #7 and the jenera/ situetion for
/Oj,‘sh'c j/owﬂa/) the absolute value bars con
usually be removed . However never simply discard
the absolute value bars |uithowt Aauiv a

jood reaSM'j
In \ £ \ = 30x *+ C,

.
lo "'y»

3ox + C,
,_,?;»\ = e
|7o-7
30% ¢,
|l e TR
=(1o-y) Czemx where C3=1C)

§2 B

?,’. /O%ﬁ “#C—ge
HCeBDx) = 10Ce

j( 3ox
N J
£

30x ¢,




K
oz
(C) C/Qaf&, Since there WAS pots
- ° “

special o bouy the “3 v 7

F and w ’

s #8} fée al/FFez ]cro)” # 7 /0

be solved jn & similar Fashion iﬂm

we had du‘fei I # K

,,u”
= Pl _
(= l’f) for ax 028026,

b= 000077275

Re write {1.,'5 as

';ZE" J»F(;a - (l/’))

____f >
- (I” P) , which 5 now ju te
Same form as #5’) except that
General solution - 2 p/a,ys the role of l\/0) and
» L plays the role of “3 "

P= T

|+ ke **

Since /0:: /3/‘7 LU/\L’Q é=0)

=
L

Hk =

=

. .

= k= l‘
1317 |

mi I/ieq

+

I+ Kk

2.

b

(1) et Ple)s 5 _
|4 ke™®

[55.55%.,.,

B] calc.) f's(/()) = %op, est. for 1950 ) A
ﬁ(za/:: (l' ft A ) 180.213... " |
5(30/ = oY 970y & 204756 c0n | " /
P(#0) = ( v v qg0) x [2282367... " |
v e%0) x (24997 | |
l

p(s0) = (v
| |



NH
P Tt

(’{/ (Cam"d/

El:c/’ﬁ"'f Metho d (Qsin; ~ ste . ‘
j/ves the results shown " —g;/ta.e S;efof Az = 1 jr/‘
column  on P 7‘8} with the excepf:’:“ él—(fff ’ |
the em‘:y for 1990 hould be 2y9 9 . B “
(fur value: 249.9977161251%) ;) ond o |

211"q1+:u) an a,pparent tjpo’

It 1% not surlpm‘sinj that the Euler results 1
track the /Ojish’c mode) reswits  so c/oxe}v)
since the /ajf‘s-h‘c mode/ from [140 4o /1990 ;

’ is
passing through a  rother Jinear portion of
+he 3ra./>l.. Because c:)c Sf’rmy /"mmfjra+iah/ |
however — U.S. population growth since about |

[990 has been much greater than ejther ‘
the Euler aode) o +the lbjis{’)k model would

Both wmodels predict population pa.ssinj

Preﬂl et .
|

the 300 million mark in approxfmaf% 2020 ‘
Jut in facf') tat milestone was reached in 7006. |

l
1

l

This exercise illustrates the da_r\je,- n
|

exfra.fo[a,ﬁhi from & model in order 4o predfo |
{ wy

The mere fact that +wo medels |

the Hfuture,
l

ajree closel), ﬁwes no assurance Fhat ‘l”t/ey

w;” Con'fofm We” w:t’A rfeah}v, |

Link for pmore readﬁy: WWW. 300m;ll;onamer;cﬂn5¢o{—9/
BluineHarden __101206.pdf ‘

S—— That s a lower case [ |



